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1+m�+BQM2b .B72`2M+B�H2b P`/BM�`B�b

RXĜ U1+m�+BQM2b /B72`2M+B�H2b 2b+�H�`2b �miƦMQK�bV 1MmM+B� v /2Km2bi`� 2H
i2Q`2K� [m2 +�`�+i2`Bx� H� T`QHQM;�#BHB/�/fK�tBK�HB/�/ /2 mM� bQHm@
+BƦM /2 mM T`Q#H2K� /2 p�HQ` BMB+B�H 2M iû`KBMQb /2 H� +QMp2`;2M+B�f/B@
p2`;2M+B� /2 BMi2;`�H2b BKT`QTB�bX

kXĜ amTQM;�KQb [m2 a : R ! R v b : R ! R bQM 7mM+BQM2b +QMiBMm�b v [m2
a(t) > 0 T�`� iQ/Q t 2 RX *QMbB/2`2KQb mM� 2+m�+BƦM /B72`2M+B�H /2
p�`B�#H2b b2T�`�/�b ẋ = a(t)b(x)X _�xQM� H� p2`�+B/�/ /2 H�b bB;mB2Mi2b
�}`K�+BQM2b,

�V aB b(x0) 6= 0 2MiQM+2b 2H T`Q#H2K� /2 p�HQ` BMB+B�H ẋ = a(t)b(x)-
x(t0) = x0 iB2M2 mM� ȹMB+� bQHm+BƦMX

#V aB b(x0) = 0 2MiQM+2b 2H T`Q#H2K� /2 p�HQ` BMB+B�H ẋ = a(t)b(x)-
x(t0) = x0 MQ iB2M2 bQHm+BƦMX

aB bQM p2`/�/2`�b /2Kmûbi`�H�b v bB bQM 7�Hb�b /� mM +QMi`�2D2KTHQX


